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This Booklet consists of 100 questions and carries 100 marks. All questions are compulsory and they carry equal marks. There is no
negative marking.

TG Ie- YTt | 100 T € G901 100 3fek € | Teft ye Stfamed § qen 3 ik Wu ¥ | THUTIeHeR 3ok TEl & |

Each question has four alternatives (A), (B), (C) and (D). Of these four alternative answers, only one is the correct answer for each
question. Use only Blue or Black ball point pen to answer questions.
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All answers are to be marked on the OMR Answer-Sheet only. Mark your responses carefully. Any cutting, use of Fluid, Eraser, use of
Blade, etc. are not allowed for changing the answers and treated as wrong answer.
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Candidate will not be allowed to take away Question Booklet rather they will submit it to the Invigilator alongwith the OMR
Answer Sheet.
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Candidates will be allowed to carry the duplicate/carbon copy of the OMR Answer-Sheet.
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You have to fill the boxes and shade the circle for your Roll Number and Booklet Series in the boxes because this information is essential
for evaluation of the Answer-Sheet.
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Darken only ONE CIRCLE for each answer as shown in the example below. If you darken more than one CIRCLE, your answer will be
treated as wrong.
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Signature of Invigilator will be done after all the entries are made by the candidate.
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Before beginning to answer the questions please make sure that all the entries in your Answer-Sheet have been duly completed. Any
carelessness in this regard may jeopardize your chances of selection.
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Do not spend time on reading all the questions before beginning to answer them. Try answering the questions one by one and
wherever you are not sure of the answer, pass on to the next question. Time permitting, you may again tray the left out questions
after completing the whole test.
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Do not talk to or consult with other candidates. This will lead to disqualification.
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Do not carry any electronic gadgets or cell phone during the test. Possession of any such equipment or cell phone will lead to disqualification
of the candidate from the examination.
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Use of unfair means during the examination will lead to disqualification of the candidate.
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In case of variation of any kind in the English and Hindi version of any question(s), the English version will be considered as final.
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Which of the following is not a type of emergency under the Indian Constitution ?
(A) National emergency (B) Financial emergency
(C) President’s rule (D) Political emergency
RIS |GG & Siaia 7 § HiA ° SATIea 1 ThR Te) © 2
(A) TS SR (B) forita TdTaehTe]
(C) Tegufa smeA (D) TSTEhTT SATTART

In whose court did Kautilya serve ?

(A) Bimbisara (B) Chandra Gupta Maurya
(C) Ashoka (D) Mahapadma Nanda
Hifees fordeh @R & Hard 92

(A) TorsitEm (B) == T Wi

(C) i (D) HEITM 71

Who among the following was awarded the Khel Ratna Award 2018 ?

(A) Pankaj Advani (B) Virat Kohli (©) Mary Kom (D) P.V. Sindhu
7 o ¥ w1 31ere-2018, fohd ez wn?
(A) UHs sTeaMl  (B) fave wiwedt (C) = (D) Tt foy

Name the largest salt water lake in India :

(A) Lonar Lake (B) Chilika Lake
(C) Vembanad Lake (D) Wular Lake
IRA § Gord 91 A9 S A ©

(A) TR e (B) fafershr et
(C) TS 3fe (D) R et

Where is the Hornbill festival celebrated ?

(A) Nagaland (B) Tamil Nadu
(C) Himachal Pradesh (D) Delhi
griforel BT el A ST @ 2

A) TS (B) dfHerTg

(
(C) o=t yew (D) feweft
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Select a suitable figure from the Answer Figures that would replace the question mark (?).

I ot € 39 I9ge o o1 = shifSe a8 o famg ((2) 1 afaeenfa foran s ges |
Problem Figures/ W9 o :

6@l &

Answer Figures /3w fa :

LN NS

(1) (2) 3
(A) (1) (B)

Who is the present governor of the Reserve Bank of India ?

(A) Y.V. Reddy (B) Raghuram Rajan
(C) Urjit Patel (D) D. Subbarao
fistel S AT gfean o adHH et i €2

(A) T = (B) TIUH TS

(C) 3ffa vea (D) <. gENE

National aquatic animal of India :

(A) Hilsa fish (B) Salt water crocodile
(C) Gharial (D) Gangetic dolphin
YT 1 AT STeT=r o7 ©

(A) Teemn fr (B) A9 STl WRH=S
(C) wfeara (D) Tiifew eifew

Who introduced the rupee as a form of currency in India ?
(A) Babur (B) Shahjahan (C) Akbar (D) Sher Shah Suri

Id | h{H & &9 H Tl i geara fre fean?

g

(A) @R (B) V&STel (C) FTheR (D) e gl
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Which of the following government schemes was announced to promote financial
inclusion ?

(A) Atal Pension Yojana (B) Income Declaration Scheme
(©) PM Jan Dhan Yojana (D) None of the above

o TETEeE 1 agen 7 % foTT TR A for s 6t S &6t ?

(A) 3 UM ASH (B) 3hH fewited w=hH

(C)  JEFH SH-47 ArSH (D) 39 H 9 &I &l

Which of the following is another name for shifting cultivation ?

(A) Garnishing (B) Kahlua (C) Jhum (D) Terrace farming
1 § § TemiaRor Sy 1 g8y AW o § 2
(A) R (B) e © = (D) T FfH

City of pearls :

(A) Kolkata (B) Hyderabad (C) Jaipur (D) Chandigarh
Hifl 1 IR T
(A) I (B) @XEIE (C) AR (D) weErg

Name the largest mosque in India :

(A) Quwwat-ul-islam (B) Char Minar
(C) Moti Masjid (D) Jama Masjid
WA H Hed IS AfESE B

(A) FEA-3IA-TEAH (B) ERHFAR

(C) Wit AfSg (D) ST AR

PPP stands for :

(A) Public Private Partnership (B) Purchase Price Power
(C) PAN Postal Payment (D) Primary Public Partner
PPP 1 37 ¢ :

(A) dfseteh YTgale Ire (B) U UIEH U

(C) PAN Urd 9H= (D) YA dfsere IR
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Which of the following is one of the largest camel and cattle fairs in the world ?

(A) Pushkar (B) Desert

(C) Surajkund (D) None of the above
frefafad § @ =0 @1 fava & qa8 591 32 IR Haw Hell 2

(A) T=t (B) H¥E

€ TEFHS (D) ST # | g T

Recently, Nipah virus affected the state of :

(A) Maharashtra (B) Kerala (C) Rajasthan (D) Manipur
T 2 H, i T fare feremoy | gerferd ge?
(A) TR (B) ¥ (C) TSTEH (D) o

Choose the correct mirror image of the given figure (X) from amongst the four alternatives.

Frefafead =R faskedl § | fo (X) %1 @&l gdu yfdfde o1 ==m SIS

X) (1) (2) ®) (4)
(A) (1) B) (2 © © D) @

When is National Education Day celebrated ?

(A) November 11  (B) December 3 (C) July 16 (D) April 9
T v feaw e T ST § 2
(A) 11 &R (B) 3 fedX (C) 16 I8 (D) 9 =T«

Which Indian, also known as “Vishwa Kavi”, won the Nobel Prize in 1913 ?
(A) Mahadevi Verma (B) Rabindranath Tagore
(C) Sarojini Naidu (D) Satyendranath Bose

fFE IR A 1913 1 Aaat GERR Siar 9= fava wfa’’ & 9 @ ff S < €2
(A) weIET T (B)  fers¥ 2R
(C) TS Tg (D) 9IS oE
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The critically endangered Gharial is found in :

(A) Chambal (B) Chilika (©) Sutlej (D) Brahmaputra

Henerq— =t fearfd & TeRar afeare e S €

(A) =FdA (B) ferferent (C) Hders (D) &g

What is the name of India’s indigenous navigation system ?

(A) NAVIC (B) GLONASS (C) India-GPS (D) GPS
IR T SIS AMIREeT TOedt ol 19 1 8 2
(A) NAVIC (B) GLONASS (C) 3fem-GPs (D) GPS

A stationery shop has a sale of I 6435, I 6927, X 6855, I 7230 and < 6562 for 5 consecutive
months. How much sale must it make in the sixth month so that it gets an average sale of
% 6500 ?

ot TRae AT g T, SR U HEHT o fashA T 6435, T 6927, T 6855, T 7230 TAT 6562 T
% 6500 T fasha U A 3 SU ©S TEH | fohae fashar wwem grm 2

(A) 4800 (B) 4991 (C) 5004 (D) 5000

Which of the following government schemes was introduced to deal with black money ?

(A) Indradhanush (B) PM Garib Kalyan Yojana
(C) PM Jan Dhan Yojana (D) None of the above
frfafad § 9 &l o9 9 f9ed & fag @R A 6 Asmei &t o1 &t 2
(A) TR (B)  WITHS TRIe heTo] STl
(C) FHFE SH-4F e (D) 3wded § | & &

What is Alibaba group ?

(A) High speed rail technology (B) American conglomerate
(C) Chinese e-commerce company (D) A secret cave

STeATeITeT THE F 7 ?

(A) T Ee X Tt (B) TRERT HIairie

(C) =M $-hiAd el (D) U fashe %
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Which team won the 2017 Ranji Trophy ?

(A) Mumbai (B) Delhi

(C) Vidarbha (D) None of the above
TOTSTt 2Rt 2017 fome 3| 3 Sfar?

(A) T (B) fewett

(C) fomd (D) Sk § 1 off T

Which of the following is not a cropping season in India ?

(A) Kharif (B) Baisakh (C) Rabi (D) Zaid
frefafed § @ ®F-91 IRa | wHe 61 Fg Tol ©?
(A) TH (B) SHr® (C) Tt (D) S’

Which of the following is NOT a specialized agency of the United Nations ?
(A) Red Cross

(B) United Nations Environment Programme

(C) World Food Programme

(D) None of the above

freferiad & & e Gge T ot fomive T 78 ©?

Who appoints the Chief Justice of India ?

(A) Prime Minister of India (B) President of India
(C) Law Minister (D) None of the above
IRA o q&A e 6t ffaa e sear 2

(A) 9RA & JurHA (B) 9N % Uegufd

(C) T Al (D) ST &g ot 7
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29. Which is the first fully organic state in India ?

(A) Sikkim (B) Nagaland (€) Gujarat (D) Goa
ot Siferek AT 9gel Tod HIA-91 § 2
(A) fafera (B) IS (©) Teua (D) e

30. Which of the following languages was spoken by Buddha ?

(A) Prakrit (B)  Sanskrit

(C) Apabhramsa (D) None of the above
frafafad § & &9 9 9 g5 g1 aeft S ot ?

(A) W (B) W&

(C) oYy (D) 39 H 9 hIE &l

31. Name the father of Green Revolution in India :

(A) Norman Borlaug (B) Satish Dhawan
(C) M.S. Swaminathan (D) C.N.R. Rao
R H gRd shifd & 57 ¢

(A) A SRan (B) wfast &er

(C) TH.TH. THMAEA (D) WL.TALR T

32.  Which of the following is not a constitutional body ?
(A) Election Commission (B)  Union Public Service Commission

(C) Central Vigilance Commission (D) Finance Commission

frfafea § 9 w0 @ wifgufe fHem 7= 82
(A) T HAEM (B) G eiieh Qe A
(C) HEr Hashdl M (D) fa= s

33. Which of the following is not a mammal ?
(A) Elephant (B) Tiger (C) Snake (D) Cat
1 & & = W s wol 7@ €2
(A) =Rt (B) =™ (C) g (D) foreett
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If A+ B means A is the mother of B; A —B means A is the brother of B; A%B means A is the
father of B and A X B means A is the sister of B, which of the following shows that P is the
maternal uncle of Q ?

I A+BHRI AT §; A, BRI AT S| A— B dicqd &; A, B UIdT 81 A%B I 9193 §; A, B <hl
M e AMAXBHR A & A, BRI T8, A H A oA e T fR P, QF Amn 8 -

(A) Q—-N+MxP (B) P+SxN-Q (C) P-M+NxQ (D) Q-S%P

Where was the 10th BRICS Summit 2018 held ?

(A) Johannesburg (B) New Delhi (C) Beijing (D) Moscow
10 i (BRICS) feraR e, 2018 el wael g7 o1 ?
(A)  STETEer (B) % faeedt (C) ST (D) W=

Find out the alternative figure which contains figure (X) as its part.

3 Jenfeqen fot &l 9 ifere fored foet (X) 39 9 & &9 § fafed ©)

NN
NN
AN

X) 1) (2) 3) (4)
(A) (1) B) (2 © © D) @

Find the HCF of 59, 14.

~

59, 14 1 HETH GHTISH JTd hifT |
(A) 826 (B) 2 (C) 326 (D) 1

Choose the word which is different from the rest.

(A) Rigveda (B) Yajurveda (C) Atharvaveda (D) Ayurveda
71 o o1 vieg A W e ?
() R (B) IR Q) werlaE (D) eIz

Which state was awarded the best fisheries state ?

(A) Tripura (B) Goa (C) Kerala (D) Jharkhand

e H fordl Watad oo U9 9 qREehd foRan T ?

(A) frgu (B) i (C) & (D) ¥RETE
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Who wrote Abhijnanashakuntalam ?
(A) Harisena (B) Shudraka (C) Kalidasa
STfeIgdery, & TEfad iF €2
(A) BfeE (B) A=H (C) ferer
Flow : River : : Stagnant : _ ?
(A) Rain (B) Stream (C) Pool
aE : At RS 2
(A) o (B) ZR © T

Which of the following is not a state capital city ?

(A) Bhopal (B) Shimla (C) Kochi
frefafad § 9 S99 TF 1 TSEET TR T 8 ?
(A) T (B) Termen (C) ==

Din-i-illahi was propounded by :

(A) Akbar (B) Shahjahan (€) Itutmish
S-T-zerel, feran wfqufed feran 82
(A) et (B) STl (C) segatT

Where is the Bhabha Atomic Research Centre located ?

(A) Kolkata (B) Mumbai (C) Chennai
1T TeITHer e Y el feera &2
(A) RICTRT (B) T (C) ==

What is the tenure of the Election Commission ?

(A) 3 years (B) 5 years (C) 6 years
fater ST 1 hreishTe foham €2

(A) 37 (B) 57 (C) 67

Ved Vyasa

I A

Canal

Gangtok

T

Ashoka

ENIEY

Delhi

4 years

4 99
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What were Jain gurus or teachers called ?

(A) Abhangas (B) Ajivikas (C) Tirthankaras (D) Alvars
S T3l A1 STEATIRT hl el ST R
(A) 3™ (B) sifSifaermd (C) itefeRt (D) 3TeaR

Who was awarded the 2018 Seoul Peace Prize ?

(A) Angela Merkel (B) Shri Narendra Modi
(C) Barack Obama (D) None of the above
feeier wrifd qUeepr 2018 § fre qrepa foram a2

(A) TS Hrehed (B) ot 7 A

(C) =T & (D) I9x ® | g T

Name the largest border guarding force in the world :
(A) Border Security Force (India) (B) People’s Armed Police (China)

(C) Pakistan Rangers (Pakistan) (D) Frontex (EU)

fove H T oTet T e 9 H A T

(A) @ GHRRE B (9RA) (B) diuew 3He wiferd (=1H)
(C) ifertar 9 (aifREd) (D) W ()

Which of the following is regionally extinct in India ?

(A) Cheetah (B) Olive Ridley Turtle
(C) Dugong (D) Flying Squirrel

IR | HHA-H &g gSifa foe &1 gt €2

(A) faa= (B) 3Affara et <
(© i (D) emEn et

Where is the Asian Development Bank headquartered ?

(A) Shanghai, China (B) London, UK
(C) Manila, Philippines (D) Tokyo, Japan
TR SaqHe Sl GEIe FEl § 2

(A) e, = (B) e, g3k

(C) wfer, frefd== (D) eI, STAH
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51. What is the name of India’s first manned mission ?
(A) Mangalyaan (B) Chandrayaan (C) Gaganyaan (D) Habitat III
IRA 1 Yo THadfed siafier faem om a1 8?2

(A) TIEEE (B) wgad (C) AR (D) @feere I

52. Which city was designed by Le Corbusier ?

(A) New Delhi (B) Chandigarh (C) Kochi (D) Kolkata
ot iR A fhd W_T 1 YET AR o1 7
(A) 8 feeedt (B) +<iE (C) =hr=it (D)  hIcThT

53. Who wrote the national song - Vande Mataram ?

(A) Bankim Chandra Chatterjee (B) Lala Lajpat Rai

(C) Rabindranath Tagore (D) Mahatma Gandhi
T M o A 6 @ |

(A) dfrH == =gsit (B) Tl &iST9d A

(C) orsare TR (D) W T

54. If Square A with side 2 cm is joined with square B with side 2 cm, what is the area of figure
formed by joining A and B ?

(A) 16sqcm (B) 8sqcm (€) 18sqcm (D) 6sqcm

IfE 2 WA ST o Teh 71 A I 2 9., oST aTcl o1 B | ST S 1, A T B 1 Sire s I fafHa
o 1 &eTher R BT ?

(A) 167 F.HL (B) 8 |.HI. (C) 18 7= |.HL (D) 6o |.HL.

55. Speed of a train is 20 meters per second. It can cross a pole in 10 seconds. What is the length
of train ?

(A) 100 m (B) 200 m (C) 300 m (D) 400 m
ferdlt 271 o1 =Tt 20 | /9. €1 I fordl WY =61 10 9. H IR & bl §1 37 i oS 1§ 2

(A) 100 . (B) 200 H. (C) 300 H. (D) 400 .
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Blood Moon is associated with :
(A) Literature (B) Lunar eclipse
(C) Blood group (D) None of the above
A =g (€ TH) H Faie |
(A) wife 9 (B) <EZURUH
(C) THHEH (D) g H | hiE T
Who is known as Chiraag-e-Dilli ?
(A) Babur (B) Nizamuddin Auliya

(C) Sheikh Nasiruddin Mahmud (D) Shahjahan
form-u-foeett % T | foFdt < S 2 2

(A) dsR (B) Taeigeg sfiferan
(C) @ TEHEEH Hee (D) eSTel

Who is the current Speaker of the Lok Sabha ?

(A) Meera Kumar (B) Sumitra Mahajan
(C) Somnath Chatterjee (D) None of the above
i1k T HT FAT ST Hi §?

(A) R FEAR (B) g e

(C) ErHTY TS (D) Ul g ot 7

Who was the first woman judge to be appointed to the Supreme Court of India ?
(A) M. Fathima Beevi (B) Indu Malhotra
(C) Indira Jaising (D) None of the above

IR o Fali=F =erd | e g Afeen =Amaneie oA of ?
(A) TH. HIfqar siat (B) 33 HeRHT
(C) feu SifE (D) WK H FE ot T



19

Directions for question numbers 60 to 63 :

P,Q R,S T, U, Vand W are sitting round the circle and are facing the centre :
. P is second to the right of T who is the neighbour of R and V.

. S is not the neighbour of P.

. V is the neighbour of U.

J Q is not between S and W. W is not between U and S.

Y9 WE&AT 60 W 63 o forar fawr ¢

P,Q,R,S T, U, VAN W Hg ol 3R JEIFHd Fh Id & 91 3R 9IS € :
e P, T e T TN WM WE, SR TV FI TS T

e S P S T T

eV, U U FI

e SUMWHAFH QTR Tl UAMSH o § W =Tl

60. What is the position of S ?
(A) Between U and V (B) Second to the right of P
(C) To the immediate right of W (D) Data inadequate

S T T T § 2
(A) UTdNV & & (B) P Tifed R g
(C) W= & e (D) ST 39T §

61. Which of the following is correct ?
(A) Pis to the immediate right of Q (B) R is between U and V
(C) Qs to the immediate left of W (D) U is between W and S

frfafed § w0 @1 adt §2
(A) P,Q% disk qifen § (B) UTNMV FHART
(C) Q W Ik a4 & (D) WaasFaaUR

62. Which two of the following are not neighbours ?
e 6 9 o 9 < v T 2
(A) RV (B) UV (C) RP (D)

QW



63.

64.

65.

66.

67.

s
Which one is immediate right to the V ?

71 5 1 V % 2k qifed 22
(A) P B) U ©) R D) T

At a certain conference of 100 people there are 29 Indian women and 23 Indian men. Out of
these Indian people 4 are doctors and 24 are either men or doctors. There are no foreign
doctors. Find the number of women doctors attending the conference.

100 AT skt feret fardr Tier ® 29 W Afgemd qen 23 MR T8y § 39 IR @il 8 9 4 S
€ T 24 A1 T T e § A1 TR St €1 el i oft faeht sieer e ¥ 1 aeier H wnfae Afeet
STl hi GE&AT JTA hifSIT |

(A) 3 (B) 2 © 1 (D) 4

Find the HCF of 59, 10.
59, 10 1 HETH THITeId Tal oM |
(A) 1 (B) 59 ) 3 (D) 590

How many dots lie opposite to the face having three dots, when the given figure is folded to
form a cube ?

0 forgell % g &% faudid g@ R foat fogd @i, S/@ 39 o= 1 SR o ofder S & 2

(A) 2 (B) 4 © 5 (D) 6

Choose the figure which is different from the rest.

SRR fiEme:

PIE]T|O|U
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68. There are 25 benches and 22 students. In how many ways can they be arranged ?
25 99 3R 22 B €, AN fohe Tleh § 3= Hafeeq foran S wehar 2
(A) 13,600 (B) 13,700 (C) 13,800 (D) 13,900

69. A student obtained 78, 77, 68, 76, 78 marks in English, Maths, Physics, Biology and Chemistry
respectively. Find his average marks.

Tk B &1 S, o, ifqest, sia oM td T@eE s § w991 78, 77, 68, 76, 78 9T Bid © |
e 3k a1 o |
(A) 70.2 (B) 77.6 (C) 75.4 (D) 74.6

70. Replace question mark.
T Torg i fcreenfua =hifer |
REASON : SFBTPO :: THINK: _ ?
(A) SGHM] (B) UIJOL (C©) UHNKI (D) UJKPM

71. Select a suitable figure from the four alternatives that would complete the figure matrix.
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72. The total age of A and B is 12 years more than the total age of B and C. C is how many years
younger than A ?

A T B %I FoT 3T B A1 C Tt FoA 1 T 12 TeA 31fefk §1 o€ C, A H ot A1t 1t 2
(A) 10 (B) 11 ) 12 (D) 13
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Glove : Hand

(A) Neck:Collar (B) Tie: Shirt (C) Socks : Feet (D) Coat : Pocket
TEIM : 71

(A) T cwm B w®:FHE () =S (D) w2

Which word does NOT belong with the others ?

(A) acute (B) right (C) obtuse (D) parallel
71 | & F | wsg 3 G AT 72
(A) A B (B) EHHI (C) feres i (D) EHMIWR

0,2,7,12,20, 2
(A) 28 (B) 29 (C) 30 (D) 31

How many points will be on the face opposite the face which contains 2 points ?

2 foagell & g@ % fawdia g@ w frat foigd S 2

(A) 1 B) 5 ©) 4 (D) 6

Pointing to a photograph of a boy Suresh said, “He is the son of the only son of my mother.”
How is Suresh related to that boy ?

(A) Brother (B) Uncle (C©) Cousin (D) Father
T o= | el Tesh S SR Hohd Y0 g G 7 e, I B A ol U A 9w deT T3
ASH U gL 1 fwar #n g 2

(A) 9 (B) == (C) == 9E (D) fuar

Product of the ages of A and B is 65 and their sum is 18. What is the difference in their
ages ?

A 3R B &Y 3T I UG 65 3R AMTHA 18 T 1 STh! 3T I ST<R F1 § 2
(A) 8 (B) 9 (C) 10 (D) 11
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If 1000 — (A —B) =998 and (A +B)+998=1008, find A and B.
Ifg 1000 — (A —B) =998 3TX (A +B)+998=1008, A T B Tdl <L
(A) A=4,B=2 (B) A=10,B=8 (C) A=100,B=98 (D) A=6, B=4

Choose the correct mirror image of the given figure (X) from amongst the four alternatives.

11 =R fomedl § 9 feu 7w o= (X) =1 9@ g4 yfafde 1 ==e wifse |

Two positions of a dice are shown below. How many points will appear on the opposite to
the face containing 5 points ?

= forglt urd =i <1 feafaat =6t s e €, 5 feigeil & fouia wers R fhat foigd TeR emd ?

(Aa) ©) B) @) © @ D) @

Marathon is to race as hibernation is to :

(A) winter (B) Dbear (C) dream (D) sleep
5 yaR BeM, <ie 9 gefya 36 yehR ita fHfshar f= § deifya 2
(A) W (B) iwd (C) Hu (D) =

A man walks 5 km toward south and then turns to the right. After walking 3 km he turns to
the left and walks 5 km. Now in which direction is he from the starting place ?

(A) West (B) South (C) North-East (D) South-West

e AT, Sfeqor st R 5 o . =eran § iR fR % ife geae 3 fon . 9o & o1g =113 gea1 § iR
5 fon . Tetar ¥1 319 o AR e 9 for fen ¥ ®2

(A) ufv=d (B) =farm (C) SW-gd (D) <fero-afe=m
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In the below given sequence, what should be the next number ?

frefafea o gwa ¥ arTell e 82
173, 195,217,239,
(A) 261 (B) 259 (C) 263 (D) 260

Find the next number in the series

79 SEel H STIel 3{eh T Ial ol |

173, 188, 203, 218, _____

(A) 232 (B) 233 (C) 235 (D) 231

Find the number of triangles in the given figure.

e o 9 fope forepion €, 5l |

(A) 8 (B) 10 C 12 (D) 14

A bacterial population doubles everyday. On the 100t day, it was found that a lake was
fully covered with bacteria. On which day was it half covered with bacteria ?

(A) Day 1 (B) Day 50 (C) Day 51 (D) Day 99
et sERIfEn ot sTreel wfafed 1 Tof Bt §1 1009 3l q01 &9 § SRR § )1 9@ T s
form fom Seifen & smen s an?

(A) vee fea (B) 508 e (C) 51e fed (D) 999 fed
Choose the figure which is different from the rest.
39 fo= 61 91 < sreht | i
]+t A OO | U|A ]V
O|A O[O X|IV T ]1OO L]
X VLV | XL XA X ]+
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Y is in the East of X which is in the North of Z. If P is in the South of Z, then in which
direction of Y, is P ?

(A) North (B) South (C) South-East (D) None of these
YXFTAHTHZHFIRAR o P, Zzwh o g, @ P, Y I forr feem & 2
(A) W (B) (©) g (D) ¥ H W FE A

A is two years older than B who is twice as old as C. The total of the ages of A, B and C is 27.
How old is B ?

ABIEA @I EHNCH A N TS B1 A, BTN C & 3T 1 FA AMT27 | BH 3T FA 8?2

(A) 10 (B) 12 (C) 14 (D) 16

What is essential to pain ?

(A) cut (B) burn (C) nuisance (D) hurt
T2 % fag @ feir €2
(A) e (B) e (C) U= HeHl (D) < &

The ratio between the length and the breadth of a rectangular park is 3 : 2. If a man cycling
along the boundary of the park at the speed of 12 km/hr completes one round in 8 minutes,
then the area of the park (in sq. m) is :

fRE TR UIeh 1 @FaTe IR SIS &1 31U 3 : 2 ¥ afc I8 e 39 Uk &t W\ W
12 fop.Ht. /5 ot fd 9 8 fie o Tk IR =ae o ol €, 1 UTeh b1 &%el (o HiX)

(A) 153600 (B) 15360 (C) 10000 (D) 100000

Two pipes A and B can fill tank in 6 hrs and 4 hrs respectively. If they are opened on alternate
hours and A is opened first, how many hours will it take to fill the tank ?

(A) 5 hrs (B) 6 hrs (C) 4hrs (D) 7.5 hrs

T 9IEY A 991 B ST 6 9T 4 53 | Teh Ih! 1 R Gehd © | A AT TS 1 I-o & Giefl Sy
qAT A 1 I8! Wit al fohas 5idi § Iaht W) STae 2

(A) 5 (B) 6% (C) 47e (D) 75%e
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BINDING : BOOK

(A) criminal : gang (B) display : museum
(C) nail : hammer (D) frame : picture

ISSGASUICIRRETICH

(A) T : ke (B) USRI : STSIHTER
(C) i : el (D) W%w T

Find the HCF of 59, 12.
59 qT 12 =hT HEWH FHTTIAdh J1d hifsld |
(A) 708 (B) 1 Q) 2 (D) 218

If 2 identical squares with side 3 cm are joined to form one shape, what is the area of this
shape ?

(A) 12sqcm (B) 6sqcm (C) 18sqcm (D) 8sqcm
3R 3 T O[Sl o 2 THEY S ol SISH s Teh &Y A1 S A 39 €Y 1 &H FIT T 7
(A) 129 9. (B) 6o |.HL. (C) 18 |.H. (D) 8= &AL

Find the next number in the series :

JU H ATl e T ?
173, 151, 129, 107,
(A) 84 (B) 83 (C) 87 (D) 85

daisy flower plant

bungalow| house ?

(A) building (B) cottage (C) apartment (D) city

=St B ey
ST W ?

(A) THARG (B) R (C) STIRH= (D) W&
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[22]
Ron scored 344 marks out of 400 marks and his elder brother Ben scored 582 marks out of
600 marks. Who scored percentage is better ?
(A) Ben
(B) Ron
©
(D) Data is inadequate

T 9 400 3AHT H T 344 3% Y fFa 3R 9% o1 918 99 7 600 H F 582 37 U fhw| e
wiaqer fereert 82

They both scored the same percentage

An error of 2% in excess is made while measuring the side of a square. The percentage of
error in the calculated area of the square is :

fordt =t Rt ST 1 HT9 o1d 9T Yl ¥ 2% 31f¥eh 77191 1| 39 99 ok IRekford &erhel 3 SRl Jffe
EIGNCIRIGICIIE 1

(A) 4% (B) 3% (C) 4.04% (D) 2%

-00o0-



[23]

SPACE FOR ROUGH WORK / % & o for &l srg
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SPACE FOR ROUGH WORK / % & o ol srg



